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This Question Paper consists of 28 questions [Section-A (20) + Section-B (4 +4)] and 12 printed pages.
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General Instructions :

1 Candidate must write his’/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 63/0SS/1, Set— on the Answer-Book.

5 (@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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There are 24 questions in all.

All questions are compulsory.

Marks for each question are indicated against it.

Question Nos. 1 to 4 are very short answer questions carrying I mark each.
Answer to these questions should not exceed 30 words each.

Question Nos. 5 to 9 and 21 and 22 are also very short answer questions
carrying 2 marks each. Answers to these questions should not exceed 60 words
each.

Question Nos. 10 to 13 and 23 and 24 are short answer questions carrying 4
marks each. Answers to these questions should not exceed 100 words each.
Question Nos. 14 to 18 are long answer questions carrying 6 marks each.
Answer of each of these questions should not exceed 140 words each.

(viii) Question Nos. 19 and 20 are on filling Qutline Maps of the World and India

(ix)
(%)
(1)
(i)
(iif)
(iv)
(v)
(vi)

(vii)

respectively. Each question contains 4 test-items of very short answers of
1 mark each.

Use of templates or stencils for drawing outline maps in illustrating your answer
is allowed.

Answer to Question Nos. 21 to 24 of Section - B should be given from any one
of the options.
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SECTION - A
gus — A

1  In which layer of atmosphere all kinds of weather phenomena take place ? 1

JIgIEA & fhE W § A YBR B HEH g el ¥ 7

2 Name any one important hot local wind blow in different parts of the world. 1

TR & =1 AR § 9o Il fhel U Aedqul T WM 99T @ AW faiay |

3 Why does the pressure increase towards the centre of the earth ? 1

9ol &b %% Bl AR TG i gedl Sl § 7

4  Explain the term ‘Glacier’. 1
T o @ Tt Bty |

5 What are the ‘Sea and Land’ breezes ? 2
TS TR SN W g1 R R/ 7

6  Mention any four major land problems in India. 4><%= 2
qRd | g &1 fhel O THE TEel # Ied@ iy |

7  How can we conserve mineral resources for future generations ? Explain. 2
T e difedl % e @ftsr dareel o S R YeR Y 9ed © 7
WL HfT |

8  Why is the pattern of road density higher in Tamil Nadu and Kerala than 2

other southern states of India ? Explain.

JHATTS T XA H Hsdh g9 & YIaed WA & &g e Todl § o1 e
T ? W BT |
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9  Why is sex ratio unfavourable in India ? Explain two major reasons. 2

qRa H T ST U Uiagd Fi & 7 &1 UHE BRO B W BT |

10 Describe four features of any two basic biotic components of biosphere. 4

Sqisd % el al YW Sifae T2l ol I fagearstt &1 au Sy |

11 Distinguish between physical geography and human geography with 2+2=4

examples.

Hifes A SfX AFE A & di IaE0 dled 3Tl W BT |

12 Study the given two diagrams carefully and answer the questions that 2+2=4

follows :

T MU T sl @ WEUMIgE® SFEAAT BT ST SHep A [IT T gl % S

fofag -

(12.1) Identify and name the two diagrams marked by Number 1 and 2.
e 1 eiX 2 ¥ sifed dF om@l &l Uea &Ity ik 396 M faRag |

(12.2) Distinguish between these two diagrams with reference to appearance

and effect.

3 M @l & S "ied " o Y9 & Ged H oY W HIT |
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13 Study the map given below carefully and answer the questions that

follow :
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(13.1) Name the terminal stations of East-West and North-South corridors. 1+1=2

(13.2) Name the four main metro cities connected by the Golden Quadrilateral. 4 X% =2
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14 Describe any six points of significance of rocks. 1x6=6

St % fepeel B Hewqel fargent @1 avie @iy |

15 Describe three main characteristics each of Alluvial and Black soils. 3+3=6

TG ST Bl Jarstl & A<M @ [G9earet e aue iy |

16 Explain with examples the factors that influence the amount of insolation  3%2=6

received on the earth’s surface.

YAl & ERAA UX YT AU Dl AT Bl THIGA B ATl DIl ol IEEN
qfed = iy |

17 Explain with examples the features of drainage systems of northern and 3+3=6

southern India.

T & ST ST (0N eTuare o bl fIoroamsti & Sereien afsd e iy |

18 Explain causes and consequences of migration. 3+3=6

TEET YA % BN ST IOl @l ST Bt |

19 The following four geographical features are marked as (A), (B), (C) and  1x4=4
(D) on the given political outline map of the world. Identify the features
with the help of the following information and write their correct names
in your answer book.

(A) Mountain Range (B) Plateau
(C) Desert (D) Grasslands
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20 The following four geographical features are marked as (A), (B), (C) 1x4=4
and (D) on the given political outline map of India. Identify these features with
the help of the following information and write their correct names in your
answer-book.

(A) Mountain (B) River

(C) Type of vegetation (D) Tea product state
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(B), (C) 3k (D) ¥ fa@mm Tar & | 39 @&u &l e & g ARl Bl 7eE |
TEATY SR I8 Hel M U+l sai-—gram H fafeg |
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22

23

24

SECTION - B

g — q
OPTION - I
faer — 1

(Local Area Planning)

(g &= faem)

Mention four levels of planning from lower to higher level. 2

s & I W &1 T 9 Swa WX Bl Sed By |

Why is assessment of local resources essential for planning ? 2

s % U W d9reai o e/l oagas § 7

Describe any four steps involve in primary data collection. 1x4=4

TTIfhes SThs] & Thsllh{ol § INMe fhel T |UMl &1 Juig Hisg |

Explain ecological planning as suggested for tribal villages ‘Sembelpani’ 4

area development.

STSTG e T & faem & fae game v aiiRafier Fase o T
HINTT |
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OPTION - II
forer — 11

(Geography of Tourism in India)

(W ¥ Wi i)

21 What is the meaning of tourism ? 2
W &1 R o ¥ 7

22 Distinguish between domestic and international tourism. 2
T SR SIS qded o 3fdX W %Iy |

23 Establish relationship between transport and tourism. 4
giaes ok wded & &g Ty wfid &g |

24  “Tourism is highly labour intensive industry of a unique type.” 4
— Support the statement.
‘T STETYTT Y B TS F9-9red SEN § 7 39 AT bl gRe Hieg |
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This Question Paper consists of 28 questions [Section-A (20) + Section-B (4 +4)] and 12 printed pages.
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2.

General Instructions :

1 Candidate must write his’/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 63/0SS/1, Set— on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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[Maximum Marks : 80

[qoTi : 80

Note :

s

(i)

(i)
(iii)
(iv)

v)

(vi)
(vii)

There are 24 questions in all.

All questions are compulsory.

Marks for each question are indicated against it.

Question Nos. 1 to 4 are very short answer questions carrying I mark each.
Answer to these questions should not exceed 30 words each.

Question Nos. 5 to 9 and 21 and 22 are also very short answer questions
carrying 2 marks each. Answers to these questions should not exceed 60 words
each.

Question Nos. 10 to 13 and 23 and 24 are short answer questions carrying 4
marks each. Answers to these questions should not exceed 100 words each.
Question Nos. 14 to 18 are long answer questions carrying 6 marks each.
Answer of each of these questions should not exceed 140 words each.

(viii) Question Nos. 19 and 20 are on filling Qutline Maps of the World and India

(ix)
(%)
(1)
(i)
(iif)
(iv)
(v)
(vi)

(vii)

respectively. Each question contains 4 test-items of very short answers of
1 mark each.

Use of templates or stencils for drawing outline maps in illustrating your answer
is allowed.

Answer to Question Nos. 21 to 24 of Section - B should be given from any one
of the options.
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SECTION - A

g — A
Why does the density increase towards the centre of the earth ? 1
gl % b= B S T R goal o § ?
Why are igneous rocks called primary rocks ? 1
1 1 M (1 i e 1 51 ) [ e e B 1 < L
In which layer of atmosphere all kinds of weather phenomena take place ? 1
JIgATSH Sl 6F WA § FHI TBR B HEHT HeA Bl § 7
Name any one important hot local wind blow in different parts of the world. 1
AR & =1 AF § 987 9l fRel U Al T WM 99T & AW faiag |
Why is sex ratio unfavourable in India ? Explain two major reasons. 2
IRd ¥ o orgura ufiga & & 7 a1 99E SR B W iy |
Why is the pattern of road density higher in Tamil Nadu and Kerala than 2
other southern states of India ? Explain.
AMHATS S hid § Hsdh °vc &1 Uiaed WRd & o7 S0 ol § s S
T ? @ AT
Mention the features of the ‘Mountain and Valley’ breezes. 1+1=2
odq o =Y gHRl @ faguareti &1 Sti@ ity |
How can we conserve mineral resources for future generations ? Explain. 2
T 9E) Oifeal & fu afer Samest o1 9 fhd Yo %Y 9od © 7
W HIRT |
Mention any four major land problems in India. 4><% 2

IR o 4 @l Tl 9 9g@ g9@st & Iwd SNy |
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10 Study the map given below carefully and answer the questions that

follow :
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(10.1) Name the terminal stations of East-West and North-South corridors. 1+1=2

(10.2) Name the four main metro cities connected by the Golden Quadrilateral. 4 X% =2
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(10.1) qd-ufyEw & STX-—afeor faard & oifom R & ol & 9 fafag |
(10.2) @M Igysl g0 9% MY IR Y@ 9l & W [k |
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11

12

13

14

Study the given two diagrams carefully and answer the questions that 2+2=4

follows :

fau T amEl w1 AEYEgds AT BT 3R IHe [ U T g9 % I

faRaa -

(11.1) Identify and name the two diagrams marked by Number 1 and 2.
g 1 iR 2 ¥ siferd a1 i@l @l gee Hifvg 3R I W falag |

(11.2) Distinguish between these two diagrams with reference to appearance
and effect.

3T Il oM@l & I "fed geT iR yuig & W H orX W HiNg |

Distinguish between physical geography and human geography with 2+2=4

examples.

Hifes A SfX AFE A & did IaEA0 dled 3Tl W BT |

Describe four consequences of green house effect. 1x4=4

@S YHE &% TR YROMET BT que BITe |

Describe any six methods of water conservation. 1x6=6

ST GO B frel ®: Tt @1 avie S |

63/0SS/1-316-B | 6 ﬁ [ Contd...



15 Describe any six points of significance of rocks. 1x6=6

St & el ©: Aeagel fagsht @ v Ak |

16 How are the major physical divisions of India complementary to each 1x6=6

other ? Explain.

A & Y@ Hifasw foa9m e 7o o6 gl & @ & 7 999y |

17 Explain causes and consequences of migration. 3+3=6

TIEET YA % BIEO SN} gienHl Bl e ity |

18 Explain with examples the factors that influence the amount of insolation = 3x2=6

received on the earth’s surface.

YAl & EXAA UX YT AU Dl AT Bl THIGA BT ATl DIl ol IAEN
afed e Sy |

19 The following four geographical features are marked as (A), (B), (C) and  1x4=4
(D) on the given political outline map of the world. Identify the features
with the help of the following information and write their correct names

in your answer book.
(A) Mountain Range
(B) Plateau

(C) Desert

(D) Grasslands
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T U dER % TEEe @ gEas ¥ Efaigd R 9iitae a@en st (A),
(B), (C) 3k (D) & fe@mn wn & | 39 q&a0 & Ffaiad Sl &l 958 9
TEENY eiX €% |l IM o9l sa¥ gRaer § farey ¢

(A) wdd e (B) wr
(C) wod (D) = ofat

WORLD: Qutline
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20 The following four geographical features are marked as (A), (B), (C)

and (D) on the given political outline map of India. Identify these features with
the help of the following information and write their correct names in your
answer-book.

(A) Mountain (B) River

(C) Type of vegetation (D) Tea product state

fiu U g & Tl T Aeks ® ffafaa 9 Gimfae @@ @ (A),
(B), (C) 3k (D) ¥ fa@mm Tar & | 39 @&u &l e & T AHhRl Bl 7eg |
TEETY 37X

1x4=4

SHH Tl W Ul saR—ghad H fafey |
(A) weid

(C) T & YBR

(B) ==&
(D) ¥ IdEH T

.
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22

23

24

SECTION - B

g — q
OPTION -1
fahe — 1

(Local Area Planning)

(e & fraem)

Why is assessment of local resources essential for planning ? 2

e & Ve W darasl &1 JeieT /& SEasEs © 7

Mention four levels of planning from lower to higher level. 2

e & IR T @ T 8 TaR @R B S iy |

Explain ecological planning as suggested for tribal villages ‘Sembelpani’ 4

area development.

STSTG e T & faem & fae gamm v aiiRafie Fase of T
HINTT |

Describe any four steps involve in primary data collection. 1x4=4

Tfyes Sfihel o Uhalih{o § NS feheel T QYT @l Iuid it |
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OPTION - 1I

frea — 11

(Geography of Tourism in India)

(Vma § wded i)

21 Distinguish between domestic and international tourism. 2

T ST FUS e | it W Hifg |

22 What is the meaning of tourism ? 2
e & R o ¥ 7
23  “Tourism is highly labour intensive industry of a unique type.” 4

— Support the statement.

‘YT ST Y B SAHH FH-9red SEN § 7 39 HAT bl GRE Hieg |

24 Establish relationship between transport and tourism. 4

giiaes ok wded & &g Ty wifid #ifg |
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This Question Paper consists of 28 questions [Section-A (20) + Section-B (4 +4)] and 12 printed pages.
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General Instructions :

1 Candidate must write his’/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 63/0SS/1, Set— on the Answer-Book.

5 (@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.

AW e ¢

1 wOendl 95795 % T I W AT qgmAih qasd e |

2 FHUA AU @l WG & foh UT-US b P IS qUT UAI Bl I o G @ A YO IS b TEE HUX
BU % | 39 9 @ S W B o o6 U9 i w4 A |

3 IE-giaw ® weam-fag g srerer ffdse @l & erfafved s o srgmie faem ax ademedt @t e
JEAT SRAT |

4 U IT-gRaE I YU @l dis d@n 63/0SS/1, Fwe-|C| g |

5

(®) g%q;émﬁ%ﬁ/wﬁvﬁmmﬁ% | fiex o, afy omu = dF i & v foper e wior § SOX

STERET, AU, HIE, Wwpa ofi ey |
U sA-YRasr ¥ fau o ate ¥ fod 6 omu few W # S fa @ ¥

(@) afs oy &S ud oy & orfafiad fpar o v ® SO fo@d & @ W99 @l @we ® W drar
Ffeat | Tt B R daw s g |
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Time : 3 Hours]

T ;3 "]

GEOGRAPHY

L

(316)

[Maximum Marks : 80

[qoTi : 80

Note :

s

(i)

(i)
(iii)
(iv)

v)

(vi)
(vii)

There are 24 questions in all.

All questions are compulsory.

Marks for each question are indicated against it.

Question Nos. 1 to 4 are very short answer questions carrying I mark each.
Answer to these questions should not exceed 30 words each.

Question Nos. 5 to 9 and 21 and 22 are also very short answer questions
carrying 2 marks each. Answers to these questions should not exceed 60 words
each.

Question Nos. 10 to 13 and 23 and 24 are short answer questions carrying 4
marks each. Answers to these questions should not exceed 100 words each.
Question Nos. 14 to 18 are long answer questions carrying 6 marks each.
Answer of each of these questions should not exceed 140 words each.

(viii) Question Nos. 19 and 20 are on filling Qutline Maps of the World and India

(ix)
(%)
(1)
(i)
(iif)
(iv)
(v)
(vi)

(vii)

respectively. Each question contains 4 test-items of very short answers of
1 mark each.

Use of templates or stencils for drawing outline maps in illustrating your answer
is allowed.

Answer to Question Nos. 21 to 24 of Section - B should be given from any one
of the options.

Usl @ P dEm 24 ¥ |

|/l veT AtEE © |

Y U9T & 9THY ST eiid ok feu ¥ |

U & 1 ¥ 4 T% SAfaag-Said UgT ¢ ofX UR® UeT W 1 9% ¥ | UH
&% YT H SAX 30 & H A{YH H el e Ay |

UST WA 5§ 9 q 3 21 qAr 22 W fGag-IT UsT T oy ueA
*® 2 3 T | 3T ¥ UA® YT B AT 60 & § AY® B Tl ST AR
UsT e 10 ¥ 13 d% ofR 23 T 24 @Y 9T &, v & s
® 4 3% < | T ¥ IAH YT B IAX 100 IR F A4S & Tl AT AR
YT &1 14 § 18 T SH-3qUT U9 & iR U 997 & 6 &b € | U9 Udeh
U @ S 140 SR T AfH H T A1 A1 |

(viii) T W@ 19 &R 20 %A HER SR 9RA & Y@ qHREN & A3 T % |

(ix)

(x)

&% U | Sffqag-Sadl dl 4 qdee 7 11 3 B ¥ |

3T I Bl W H % A0 @ aHfas s % faw giat ar =Rt & gam
% AN & SR % |

guzg—a H YeT €& 21 ¥ 24 T% % I (69l Tk fqmed H ¥ AT
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SECTION - A

gug — A

1  Why are plains called cradles of human civilization ? 1

Al & T XAl & 9T ol Hel war § 7

2 Explain the term ‘degradation’. 1
FriienTer g1’ @l T ity |

3 Name any one important hot local wind blow in different parts of the world. 1

TR & =1 AF § 987 9l fRel U "edqel T WM 99T & AW faiag |

4  In which layer of atmosphere all kinds of weather phenomena take place ? 1

qIGATSA DI b TXd H T B Bl AGH TSAW Bl & 7

5  How can we conserve mineral resources for future generations ? Explain. 2

T 9l qifedl & g @i ganes) o @ e e Bl dohd & 7
W HIRT |

6  Mention any four major land problems in India. 4><%= 2
qRa H 9 & [l 9 TE el & Ie@ g |
7  Why is the pattern of road density higher in Tamil Nadu and Kerala than 2

other southern states of India ? Explain.

dftrerTg 3R Bid § WS T &1 Uiaed Wk % of 3l Tl | i S
T ? W BT |
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8  Why is sex ratio unfavourable in India ? Explain two major reasons. 2

IRa # fofw orgua wfoga & § 7 1 W SRON Bl W Hig |

9 Mention the features of the ‘Westerlies’. 2

Tgar (qfyad) gae @ faovaren &1 Swe Bt |

10 Study the given two diagrams carefully and answer the questions that 2+2=4

follows :

T T 3 emEl B qEYUEYds HEFIT IS i IHH A QU TT g9 & IAL
fafeag -

(10.1) Identify and name the two diagrams marked by Number 1 and 2.
e 1 ofX 2 § sifthd a1 i@l @l 98a™ HivY iR 3% M fafey |

(10.2) Distinguish between these two diagrams with reference to appearance
and effect.

3 M @l & 919 "ied " o U9 & Ged H oY W HIT |
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11 Study the map given below carefully and answer the questions that

follow :
itoed 68 72 76 80' al.z" 58 92 % 100
IRDIA
Maticnal Highways 4
' Development Projects »
]
i i
’ ot 201
i l“\}\
_.:‘73;- B 5V "”\\:-z
i 2y
D Los Pamme b 3 )
‘i Trissu K@D g . \1
I '»r" ’ Tl
\R @, . g &
SN/ .
: Kanya Kumari . i
44 Scale 1 5,000,000 S . u
N 100 O 100 00 300 400 510 :
i o o T i
i Kil meters !‘
= T ek i ! H : i N 4
R 72° 76° 80° 84° 8g° 92° 95"
(11.1) Name the terminal stations of East-West and North-South corridors. 1+1=2

(11.2) Name the four main metro cities connected by the Golden Quadrilateral. 4 X% =2
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feu U wEfas &1 SEgEde EEE BHINT R I9Eh Ae 7T Y9 % Sax
fafeT |

84 66 e 78" ap " ) 92° 2€ 0" pg !
e LI : - g
i
-3
]
H
i
-5t
H
i
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-8
)
H
i
E
Bl
2 S
| i
i
H H
g
H
i
i Scale-1:15,000,000
i 00 0 100 200 30D 430 500
} SERRRA L e ——
% Kiigmelers
& | ! : ; | ;
72* 76" 8¢° 84° 88" 57° ng°

(11.1) qE-ufyaw &R STe-—afeor faard & sifom R & ol & 9 fafag |
(11.2) w=fM Ig4s g0 S$ 1Y IR Y@ 9l & W fakag |
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12

13

14

15

16

17

18

19

Describe natural vegetation and animal life of the ‘Evergreen 2+2=4
Rainforest Biome.

TETENd auiad Sam @l Yipiasd a=edid 3K Yol Siee &l 9o ity |

Distinguish between physical geography and human geography with 2+2=4
examples.

Hifdes I 3 AFE PN & S I aied 3T TR BT |

Explain the main features of the four seasons experienced in India. 6

ARG o o9 &I T3 A RSt Bl e fagaret @l e By |

Explain causes and consequences of migration. 3+3=6

TIGET YA % BIEO SN} gionHl Bl e By |

Describe any six points of significance of rocks. 1x6=6

St % el B: Aeayul fagetl @1 ave AT |

Explain with examples the factors that influence the amount of insolation  3%2=6
received on the earth’s surface.

JeEl & ERaA UX YT AU Dl AT Bl JHIGA B ATl DIl Sl IEBLN
qfed e Hivg |

Highlight various rules and laws framed by the Aravari Samsad keeping 6
in mind the need of the people and ecological balance.

AT FHE g1 AR &l LIl 3R TEd dge @l & 9 T@d 3¢
sg T faf Pl ofR @ @ SR AR |

The following four geographical features are marked as (A), (B), (C) and 1x4=4
(D) on the given political outline map of the world. Identify the features

with the help of the following information and write their correct names

in your answer book.

(A) Mountain Range (B) Plateau
(C) Desert (D) Grasslands
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T U dER % TEEe @ gEas ¥ Efaigd R 9iitae a@en st (A),
(B), (C) 3k (D) & fe@mn wn & | 39 q&a0 & Ffaiad Sl &l 958 9

TEENY eiX €% |l IM o9l sa¥ gRaer § farey ¢
(A) wda e (B) W
(C) W (D) = it

WORLD: Outline
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20 The following four geographical features are marked as (A), (B), (C)

and (D) on the given political outline map of India. Identify these features with
the help of the following information and write their correct names in your
answer-book.

(A) Mountain (B) River

(C) Type of vegetation (D) Tea product state

fiu U g & Tl T Aeks ® ffafaa 9 Gimfae @@ @ (A),
(B), (C) 3k (D) ¥ fa@mm Tar & | 39 @&u &l e & T AHhRl Bl 7eg |
TEETY 37X

1x4=4

SHH Tl W Ul saR—ghad H fafey |
(A) weid

(C) T & YBR

(B) ==&
(D) ¥ IdEH T

.
o A

km Scale 1:15000,000 km
100500 100 200 300 400 500

POLITICAL MAP OF

INDIA

X"

N
R
i
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21

22

23

24

SECTION - B

g — q
OPTION -1
fahe — 1

(Local Area Planning)

(g &= faem)

Mention four levels of planning from lower to higher level. 2

e % 9 WA @ M 8 Ioual WX B Seid BNy |

Why is assessment of local resources essential for planning ? 2

s & fu T dareAt &1 qeieT /al oagas § 7

Describe any four steps involve in primary data collection. 1x4=4

TTIfhes SThs] & Thslh (o § e fhel T |UMl &1 auiq &g |

Explain ecological planning as suggested for tribal villages ‘Sembelpani’ 4
area development.

ST e T & faw & fae game o aiiRafier e el T
HINTT |
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OPTION - 1I

(ECT I | |

(Geography of Tourism in India)

(W & e )

21 What is the meaning of tourism ? 2
e & R o7 ¥ 7

22 Distinguish between domestic and international tourism. 2
TR X S Tofed ® ofay e e |

23 Establish relationship between transport and tourism. 4
TREed ol Tded % 49 @Y Wi By |

24  “Tourism is highly labour intensive industry of a unique type.” 4
— Support the statement.
‘T STETEITT YK & STied JH-91ed e & |7 39 BT &l IR DIVT |
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